


iR ERBESLERN AT LR

% g & - BARTE Bifg B 2 B ® & wmzE
BRI 8,419,840 + 189,026 8,608, 866
EEAGE 8,419, 840
EEEE 189, 026
T DR 8,419,840 x 53.85% ( 35% = (1 — 35% ) ) 4,534,083
EHRE 8,608,866 + 4,534, 083 13,142,949
—REEES 13,142,949 x 53.85% ( 35% =+ (1 — 35%) ) — 427 7,077,051
ES it 13,142,949 + 7,077, 051 20, 220, 000
HBETEALE 20,220,000 x 10.00% 2,022, 000
EBREH 20,220,000 + 2,022,000 22,242,000




EERNRE ERBEAELHRENBEIRETER
% b B - Mikstik By 2 i % =
BRI 8, 608, 866
ERBERERSRNBETIRITER 8, 608, 866
ERBERERSNBETIRITER 8, 608, 866
EEAGE 8,419, 840
FTEEE 433, 500
1 FHE# R 1.00 433, 500 433, 500
=
IR E RN 1,292, 540
2 FHEEHDOETE 1.00 197, 500 197, 500
=
3 HEETILDELE 12.00 18, 980 227,760
fr—2
4 SHEDOE 12.00 47,700 572, 400
fr—2
b tEHREREDERE 12.00 19, 380 232, 560
fr—2
6 BRNFHEEOTE 2.00 31,160 62, 320
fr—2
Rt REEDREEDEE 1,141, 800
T HANEOREEDOEE 1.00 353, 800 353, 800
fr—2
8 X RETmE DT 1.00 788, 000 788, 000
=
HEITAHEDHRE 1, 140, 300
9 METAED®RE 1.00 1,140, 300 1, 140, 300
=




EERNRE ERBEAELHRENBEIRETER
% b B - BiksHik B £ i & & =

EhEERET 1,296, 700

10 KmEERL 1.00 615, 600 615, 600
=

11 #E=58 1.00 428, 800 428, 800
=

12 METEEDETE 1.00 252,300 252, 300
=

TR 636, 200

13 ML 1.00 636, 200 636, 200
=

MR REE 319, 500

14 FARRIE R DI NI 1.00 319, 500 319, 500
=

R EE O F 8l 384, 300

15 MERIBERDF A 1.00 384, 300 384, 300
=

474 I)LaR FD®RE 353, 900

16 54745 )LaR D&E 1.00 353, 900 353, 900
=

BARE SR ERER 231, 000

17 BRERBAEHIER 1.00 231, 000 231, 000
=

Wi - |E 563, 000

18 EaIHE 1.00 121,800 121, 800
[

19 K E 2.00 121, 800 243, 600
[




HENRE REASE RS A TR LR

% i1 R - BAIKTR B # B B @ ® # =

20 &RmE 1.00 197, 600 197, 600
]

BE 154, 200

21 BE 1.00 154, 200 154, 200
=

bEXY)] 472,900

22 EHTEREEER 1.00 472,900 472,900
=

EEEE 189, 026

EHARE 71,026

23 EHARE 1.00 77,026 71,026
=

B2 67,000

24 EHBRES 1.00 67,000 67,000
=

EIXRERE 45, 000

25 T RERE 1.00 45, 000 45,000
=




RifiR- T/ 7 —2 ERASEEERRRE TRIER
HFE5:1
B FTEER 1KLY
£ £ R - BAKTiE Bifi = B ) " =
AR
A 1.00 75, 800. 00 75, 800
EXE2TAE )
A 1.50 64, 800. 00 97, 200
A (A)
A 2.50 57, 000. 00 142, 500
A (B)
A 2.50 47, 200. 00 118, 000
& & VERES - 1.00=¢ 433, 500. 00 433,500
F#E5:2
B FTEEGORE 1KLY
£ £ R - BAKTiE =-Fivd = B ff ) " =
EXE2TAE )
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.00 47, 200. 00 47, 200
& i VERES - 1.00=¢ 197, 500. 00 197, 500
5:3
2% HEETILOEE 1r—24Y
£ £ R - BAKTiE Bifi = B ) " =
A (A)
A 0.10 57, 000. 00 5,700
A (B)
A 0.20 47, 200. 00 9, 440
iR (C)
A 0.10 38, 400. 00 3,840
& i Ve : 1.005—X 18, 980. 00 18, 980




KT -ELT/ \vr—>

ERBFRLRRWRETREI RS

&5 4
2% : FHEOER 15—2%Y
% 7 L - IRTiE #H = il & &
A (A)
0.50 57, 000. 00 , 500
HEm (C)
0.50 38, 400. 00 , 200
& &t E%£82Hh 0 1.005—R 47, 700. 00 , 700
H#E:5
&% SHEMEROEE 15—2%Y
% 7 L - IRTiE #H = il & &
EX T TC D)
0.10 64, 800. 00 6, 480
A (A)
A 0.10 57, 000. 00 , 700
HEm (C)
A 0.10 38, 400. 00 , 840
Hftt &
A 0.10 33, 600. 00 , 360
& i 19, 380. 00 , 380
HS:6
& . BRNEEEOFE 15—2%Y
£ 7 L - BIRTiE #H = il & &
EX T TC D)
0.10 64, 800. 00 6, 480
A (A)
0.20 57, 000. 00 11, 400
A (B)
0.20 47, 200. 00 9, 440
HEm (C)
0.10 38, 400. 00 3,840
& &t 31, 160. 00 31, 160




RifiR- T/ 7 —2 ERASEEERRRE TRIER
&#5:1
&¥ : RRGEOREHOBRE 14— %Y
% # 1 - BkeHA Bt 2 B @ % %
18T (B3
A 0.50 64, 800. 00 32, 400
AR (A)
A 1.00 57, 000. 00 57, 000
AR (B)
A 2.50 47, 200. 00 118, 000
HER (C)
A 2.50 38, 400. 00 96, 000
HfiT A
A 1.50 33, 600. 00 50, 400
a i 28N : 1.00—X 353, 800. 00 353, 800
&5 :8
27 : NEREOREH ESD)
% # 1 - BkeHA Bt 2 B @ % %
180 (B3
A 1.50 64, 800. 00 97, 200
AR (A)
A 2.00 57, 000. 00 114, 000
AR (B)
A 5.00 47, 200. 00 236, 000
HER (C)
A 4.50 38, 400. 00 172, 800
HfiT A
A 5.00 33, 600. 00 168, 000
a i %85 ¢ 1. 00K 788, 000. 00 788, 000




RifiR- T/ 7 —2 ERASEEERRRE TRIER
H#5:9
A BT AEOKRE 1KLY
£ £ R - BAKTiE By = B ® ) W E s &
EXE2TNE )
A 4.00 64, 800. 00 259, 200
A (A)
A 5.50 57, 000. 00 313, 500
A (B)
A 4.50 47, 200. 00 212, 400
AR (C)
A 7.50 38, 400. 00 288, 000
Hti&
A 2.00 33, 600. 00 67, 200
& i VERES - 1.00=¢ 1, 140, 300. 00 1, 140, 300
EE .10
£ £ R - BAKTiE By = B ® ) W E s &
A (B)
A 1.50 47, 200. 00 70, 800
iR (C)
A 5. 00 38, 400. 00 192, 000
Hti&
A 10. 50 33, 600. 00 352, 800
& i VERES - 1.00=¢ 615, 600. 00 615, 600
BE 11
%ffl‘ N %E‘I’g 1it% LJ
£ £ R - BAKTiE By = B ® ) W E s &
A (B)
A 1.00 47, 200. 00 47, 200
iR (C)
A 2.50 38, 400. 00 96, 000
Hti&
A 8.50 33, 600. 00 285, 600
& i VE%RES - 1.00= 428, 800. 00 428, 800




RifiR- T/ 7 —2 ERASEEERRRE TRIER
5:12
2% BMEISEDERTE 1KLY
£ £ R - BAKTiE By = B ® ) s &
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.50 47, 200. 00 70, 800
iR (C)
A 2.50 38, 400. 00 96, 000
& F YegheH 1. 00k 252, 300. 00 252, 300
5:13
B RMET 1KLY
£ £ R - BAKTiE By = B ® ) s &
A (A)
A 1.00 57, 000. 00 57, 000
A (B)
A 5.00 47, 200. 00 236, 000
AR (C)
A 5.00 38, 400. 00 192, 000
Hti&
A 4.50 33, 600. 00 151, 200
& F YegheH 1. 00k 636, 200. 00 636, 200
BE 14
AF : MR DR EE 1K%Y
£ £ R - BAKTiE By = B ® ) s &
A (A)
A 1.50 57, 000. 00 85, 500
A (B)
A 1.50 47, 200. 00 70, 800
iR (C)
A 2.50 38, 400. 00 96, 000
Hti&
A 2.00 33, 600. 00 67, 200
& F YegheH 1. 00z 319, 500. 00 319, 500




RifiR- T/ 7 —2 ERASEEERRRE TRIER
&S : 15
27 : MBBZOT ESD)
% # 1 - BkeHA Bt 2 B @ % %
18T (B3
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
AR (B)
A 1.50 47, 200. 00 70, 800
HER (C)
A 2.50 38, 400. 00 96, 000
HfiT A
A 2.00 33, 600. 00 67, 200
a i %80 ¢ 1. 00K 384, 300. 00 384, 300
&S :16
B 54 THA PR FORE ESD)
% # 1 - BkeHA Bt 2 B @ % %
180 (B3
A 1.50 64, 800. 00 97, 200
AR (A)
A 1.50 57, 000. 00 85, 500
AR (B)
A 2.00 47, 200. 00 94, 400
HER (C)
A 2.00 38, 400. 00 76, 800
a &t %80 ;1. 00K 353, 900. 00 353, 900




RifiF-ET/ 75— EABEBLRAREEIRNES
BE .17
2% : BRESREERER .
% 7 3R - ks B3 B £ = & &
EAEHEM (GRE)
A .00 64, 800. 00 64, 800
A (A)
A .00 57, 000. 00 57,000
A (B)
A .50 47, 200. 00 70, 800
HEf (C)
A .00 38, 400. 00 38, 400
& &t EZReS : 1.00 231, 000. 00 231, 000
&S .18
&% : BRIHE 1E%Y
% 7 3R - ks B B £ = & &
EAEHEM (GRE)
A .00 64, 800. 00 64, 800
A (A)
A .00 57, 000. 00 57,000
& &t %425 : 1.00E 121, 800. 00 121, 800
BE .19
AF5 . hRRE HEED)
£ 7 3R - ks B3 B £ = & &
EAEHEM (GRE
A .00 64, 800. 00 64, 800
A (A)
A .00 57, 000. 00 57,000
& &t %425 : 1.00[E 121, 800. 00 121, 800




RifiR- T/ 7 —2 ERASEEERRRE TRIER
S :20
A RBRBRE HEED
£ £ R - BAKTiE Bifi = B ) s &
AR
A 1.00 75, 800. 00 75, 800
EXE2TAE )
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57, 000
& & YEZEEN < 1.00E 197, 600. 00 197, 600
&BE 21
£ £ R - BAKTiE Bifi = B ) s &
EXE2TAE )
A 1.50 64, 800. 00 97, 200
A (A)
A 1.00 57, 000. 00 57, 000
& & YegheH 1. 00z 154, 200. 00 154, 200
BE .22
A EFTEREEERK 1KLY
£ £ R - BAKTiE Bifi = B ) s &
EXE2TAE )
A 1.50 64, 800. 00 97, 200
A (A)
A 2.50 57, 000. 00 142, 500
A (B)
A 2.50 47, 200. 00 118, 000
iR (C)
A 3.00 38, 400. 00 115, 200
& & YegheH 1. 00k 472, 900. 00 472, 900




KT -ELT/ \vr—>

ERBFRLRRWRETREI RS

&5 23
2% EHARE 1KY
2 o g - BIRTE By = i %8 " =
EHARE
= 1.00 717,026. 00 717,026
& it 1EZ8EA - 1.00 77,026. 00 717,026
BS54
B EBBERR 1KY
2 £ g - BIRTE By = i %8 " =
EBHRRE
= 1.00 67,000. 00 67,000
& it 1EZREA - 1.00 67,000. 00 67,000
&S5 :25
2% BIEERAE 1KY
2 7 g - BIRTE By = i %8 " =
EZAYVTRE
I 1.00 45, 000. 00 45, 000
& it 1EZRER - 1.00 45, 000. 00 45, 000




